Korea (Seuth)



Please name the ISSP module which the documentation refers to (e.g., “Health and Health
Care / 1SSP2011”):

| Role of Government

Please name your country:

| South Korea

SEX - Sex of respondent

National Language English-Translation

Question no. | #42.1.2 0| 22 XY 71? #42.1.2 1s/[Person].male or female?
and text of XFe! L 77}?
Codes/ 1. Xt 1. Male
Categories [ 2 o X} 2. Female

-8. 2=C} -8. Don’tknow
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding:

Country Variable Codes (intranslation) = SEX
If (#42.1.2=1) 1. Male
If (#42.1.2=2) 2. Female
If (#42.1.2=-8) 9. No answer
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BIRTH — Year of birth

This question can be asked as an alternative to asking about AGE. If BIRTH is not asked
directly, it must be computed by DATEYR ‘year of interview’ minus AGE ‘age of

respondent’.
National Language English Translation

Question no. | #42.1.3 0] 22| L}o|z 2toz= & #42.1.3 How old is [Person]?
and text Ml 7712
Codes/ 18. 18 M| 18. 18 years old
Categories | 99. 99 Aj| 99. 99 years old

-8. D=2t -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding: (list lowest, highest, and ‘missing*codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules =2BIRTH
Construction
Codes If (#42.1.3=99) [1917]
If (#42.1.3=18) [1998]
If (#42.1.3=-8) 9999. No answer

Optional: Recoding Syntax

compute birth=2016-age.

Documentation for ISSP background variables, ISSP 2014 onwards © GESIS




AGE - Age of respondent

This question can be asked as an alternative to asking about BIRTH. If AGE is not asked
directly, it must be computed by DATEYR ‘year of interview’ minus BIRTH ‘year of

birth’.

National Language English Translation

Question no. | #42.1.3 0] 22| L}o|z 2toz= & #42.1.3 How old is [Person]?
and text Ml 7712
Codes/ 18. 18 M| 18. 18 years old
Categories | 99. 99 Aj| 99. 99 years old

-8. 2=cC} -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding: (list lowest, highest, and ‘missing**codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/Construction Rules

=2>AGE

Construction

Codes

If (#42.1.3=18)

[18]

If (#42.1.3=99)

[99]

If (#42.1.3=-8)

999. No answer

Optional: Recoding Syntax
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EDUCYRS - Education I: years of schooling

National Language

English Translation

Question no. | #49 F|st= =WE O{C|I71X]| #49 What is the highest level of school
and text A S U k2 you have attended?
Codes/ 0. Fsf 0. No schooling
Categories | 1 xE(=Zcl)stm 1. Elementary school
2. 55t 2. Junior high school
3. 15w 3. High school
4. o=t (2.3 9H) 4. Junior college (2 or 3 years course)
5. 0istw (4 AH) 5.University (4 years course)
6. O sH3 (M ALREY) 6. Graduate school (masters)
7. CHSHY (BFALTHE) 7. Graduate school (phd)
8. MY, stst 8. Seodang, Hanhak
-8. 2=2rC} -8. Don’t know
Question no. | #49.1 #35t= O StW E #49.1 Didyou graduate from this
and text ZAsA S 2 school,jorareyou currently attending?
Codes/ 1. EHCt 1. Graduated
Categories | 2 =g|alic} 2. Dropped out
3. M=k Zolct 3. Currently attending
-8. m=7c}t -8. Don’t know
-1. d{si & -1.Not applicable
Question no. | #49.2 A st | ZE|SHI S22 | #49.2 In what grade did you drop out?
and text
Codes/ 1.1sh4 1. 1% grade
Categories [ 2. 2 sfi4 2. 2" grade
3. 3 54 3.3 grade
4. 4354 4. 4" grade
5.5 54 5. 5" grade
6. 6 6. 6" grade
-8.Z=2ZcCl -8. Don’t know
-1. dlsi & -1. Not applicable
Question no. | #49.3 SR & st L 7}? #49.3 What grade are you in?
and text
Codes/ 1.1sh4 1. 1% grade
Categories«, [ig. 2 sf4 2. 2" grade
3. 3 54 3.3 grade
4. 4 5t 4. 4" grade
5.5 54 5. 5" grade
6. 6 54 6. 6" grade
-8. 2=/} -8. Don’t know
-1. Hlaf|i & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note Codes for #49: From the 2006 KGSS, the code ‘graduate school’ in previous years

is separated into two different codes, specifying ‘masters’ and ‘phd’ degrees.
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Filter Variable(s) and Conditions:

#49 Ask all

#49.1 To be answered by those who have attended formal school (Codes 1-7 in #49)
#49.2 To be answered by those who had dropped out (code 2 in #49.1)

#49.3 To be answered by those who are currently attending (code 3 in #49.1)

Country Variable Codes/Construction Rules = EDUCYRS
If (#49=0 or #49=8) 0. No formal schooling, no years at
school
If (#49=1 and #49.1=2 and #49.2=1) or (#49=1 and 1. One year
#49.1=3 and #49.3=1)
If (#49=-8 or #49.1=-8 or #49.2=-8 or #49.3=-8) 98. Don’t know
- Not used 99. No answer

Optional: Recoding Syntax

if (educ=0 or educ=8) educyrs=0.

if (educ=1 and graduate=1) educyrs=6.

if (educ=1 and graduate=2 and dropyr>=1) educyrs=dropyr.

if (educ=1 and graduate=3 and curryr>=1) educyrs=curryr.

if (educ=2 and graduate=1) educyrs=9.

if (educ=2 and graduate=2 and dropyr>=1) educyrs=6+dropyr.
if (educ=2 and graduate=3 and curryr>=1).educyrs=6+curryr.
if (educ=3 and graduate=1) educyrs=12:

if (educ=3 and graduate=2 and.dropyr>=1) educyrs=9+dropyr.
if (educ=3 and graduate=3 and curryr>=1) educyrs=9+curryr.
if (educ=4 and graduate=1) educyrs=14.

if (educ=4 and graduate=2 and dropyr>=1) educyrs=12+dropyr.
if (educ=4 and graduate=3 and curryr>=1) educyrs=12+curryr.
if (educ=5 and graduate=1) educyrs=16.

if (educ=5 and graduate=2 and dropyr>=1) educyrs=12+dropyr.
if (educ=5 and graduate=3 and curryr>=1) educyrs=12+curryr.
if (educ=6 and graduate=1) educyrs=18.

if (educ=6and graduate=2 and dropyr>=1) educyrs=16+dropyr.
if (educ=6"and graduate=3 and curryr>=1) educyrs=16+curryr.
if (educ=7 and graduate=1) educyrs=22.

if (educ=7 and graduate=2 and dropyr>=1) educyrs=18+dropyr.
If\(educ=7 and graduate=3 and curryr>=1) educyrs=18+curryr.
if (educ=-8 or graduate=-8 or dropyr=-8 or curryr=-8) educyrs=98.
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nat_ DEGR - Country-specific highest completed degree of education

National Language English Translation

Question no. | #49 F|st= =WE O{C|I71X]| #49 What is the highest level of school
and text ch A &S U k2 you have attended?
Codes/ 0. Fsf 0. No schooling
Categories |1 x5 (Zohstm 1. Elementary school

2. 55t 2. Junior high school

3. 155t 3. High school

4. o=t (2.3 9H) 4. Junior college (2 or 3 years course)

5. cHstw (4 HH) 5.University (4 years course)

6. O sH3 (M ALREY) 6. Graduate school (masters)

7. CHSHY (BFALTHE) 7. Graduate school (phd)

8. MY, stst 8. Seodang, Hanhak

-8. 2=2rC} -8. Don’t know
Questionno. | #49.1 #5t= o] W& #49.1 Didyou graduate from this
and text e =1 bl school,jor-aresyou currently attending?
Codes/ 1. EHCt 1. Graduated
Categories | 2 =g|3lic} 2. Dropped out

3. Mt ol 3. Currently attending

-8. Z=7c} -8. Don’t know

-1. d|afi & -1.Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Caonditions:

10

#49 Ask all

#49.1 To be answered by those who have attended formal school (Codes 1-7 in #49)

Construction/Recoding:

Country Variable Codes/Construction Rules

= nat DEGR

If (#49=0 or #49=8)

. No formal schooling

If.(#49=1 and (#49.1=2 or #49.1=3))

. Elementary incompleted

I (#49=1and #49.1=1)

. Elementary completed

If (#49=2 and (#49.1=2 or #49.1=3))

. Middle school incompleted

IF@#49=2 and #49.1=1)

. Middle school completed

If (#49=3 and (#49.1=2 or #49.1=3))

. High school incompleted

If (#49=3 and #49.1=1)

. High school completed

If (#49=4 and (#49.1=2 or #49.1=3))

O INO|OBWIN|F-

. Junior college incompleted

If (#49=4 and #49.1=1)

9. Junior college completed

If (#49=5 and (#49.1=2 or #49.1=3))

10. University incompleted

If (#49=5 and #49.1=1)

11. University completed

If (#49=6 and (#49.1=2 or #49.1=3))

12. Master degree incompleted

If (#49=6 and #49.1=1)

13. Master degree completed

If (#49=7 and (#49.1=2 or #49.1=3))

14. Doctoral degree incompleted

Documentation for ISSP background variables, ISSP 2014 onwards © GESIS



11

If (#49=7 and #49.1=1)

15. Doctoral degree completed

If (#49=-8 or #49.1=-8)

99. No answer

Optional: Recoding Syntax

if (educ=0 or educ=8) kr_degr=1.

if (educ=1 and (graduate=2 or graduate=3)) kr_degr=2.

if (educ=1 and graduate=1) kr_degr=3.

if (educ=2 and (graduate=2 or graduate=3)) kr_degr=4.

if (educ=2 and graduate=1) kr_degr=5.

if (educ=3 and (graduate=2 or graduate=3)) kr_degr=6.

if (educ=3 and graduate=1) kr_degr=7.

if (educ=4 and (graduate=2 or graduate=3)) kr_degr=8.

if (educ=4 and graduate=1) kr_degr=9.

if (educ=5 and (graduate=2 or graduate=3)) kr_degr=10.

if (educ=5 and graduate=1) kr_degr=11.

if (educ=6 and (graduate=2 or graduate=3)) kr_degr=12.

if (educ=6 and graduate=1) kr_degr=13.

if (educ=7 and (graduate=2 or graduate=3)) kr_degr=14.

if (educ=7 and graduate=1) kr_degr=15.
if (educ=-8 or graduate=-8) kr degr=99.
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DEGREE - R: Education IlI: categories

12

National Language

English Translation

Question no. | #49 F|st= =WE O{C|I71X]| #49 What is the highest level of school
and text A S U k2 you have attended?
Codes/ 0. Fsf 0. No schooling
Categories |1 x5 (Zohstm 1. Elementary school
2. =5t 2. Junior high school
3. 155w 3. High school
4. o=t (2.3 9H) 4. Junior college (2 or 3 years course)
5. cHstw (4 HH) 5.University (4 years course)
6. O sH3 (M ALREY) 6. Graduate school (masters)
7. CHSHY (BFALTHE) 7. Graduate school (phd)
8. MY, stst 8. Seodang, Hanhak
-8. 2=t -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -
| Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction-Rules = DEGREE

If (#49=0 or #49=8)

0. No formal education

If (#49=1) 1. Primary school

If (#49=2) 2. Lower secondary (secondary
completed does not allow entry to
university: obligatory school)

If (#49=3) 3. Upper secondary (programs that
allow entry to university)

If (#49=4) 4. Post secondary, non-tertiary (other
upper secondary programs toward
labour market or technical formation)

If (#49=5) 5. Lower level tertiary, first stage (also

technical schools at a tertiary level)

IF\@#49=6 or #49=T7)

6. Upper level tertiary (Master, Dr.)

[F(#49=-8)

9. No answer

Optional: Recoding Syntax

recode educ (0,8=0)(6,7=6)(-8=9)(else=copy) into degree.
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WORK — Currently, formerly, or never in paid work

13

National Language English Translation

Question no. | #53 Al Fs5t= £=2lo| Y= L2 | #53 Do you have a job that provides
and text St H ALk income?
Codes/ 1. J=ct 1. Yes
Categories | 2 ofL|C} 2. No

-8. D=2t -8. Don’t know
Question no. | #53.18 ¢ U= o= s EA #53.18 Have you ever had a paid job?
and text Zglol 2pynl?
Codes/ 1. UL} 1. Yes
Categories [ 2. gict 2. No

-8. 2=7ic} -8. Don’t know

= -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#53 Ask all

#53.18 To be answered by those who are not-currently working (code 2 in #53)

Construction/Recoding:

Country Variable Codes/Construction Rules

=2>WORK

If (#53=1)

1. Currently in paid work

If (#53=2 and #53.18=1)

2. Currently not in paid work, paid work
in the past

If (#53=2 and #53.18=2)

3. Never had a paid work

If (#53=-8 and #53,18=-8)

9. No answer

Optional: Recoding Syntax

if incmr=1 work=1.

if incmr=2-and unwkex=1 work=2.
if incmr=2"and unwkex=2 work=3.
if incmr=-8 or unwkex=-8 work=9.
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WRKHRS — Hours worked weekly

14

National Language English Translation

Question no. | #53.4 & F2of| @4 = A7t #53.4 How many hours a week do you
and text QI stAlL 77}? usually work?
Codes/ AlZ} Hours
Categories | _g mzZict -8. Don’t know

-1. H|sl| & -1. Not applicable
Question no. | #53.11 Yol WA = A2t #53.11 How many hours a week do you
and text ol AL 7712 usually work?
Codes/ AlZE Hours
Categories | _g m=zZict -8. Don’t know

-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#53.4 To be answered by those who are currently-employed (code 1 in WORK)
#53.11 To be answered by those who are currently’'self-employed (code 1 in WORK)

Country Variable Codes/Construction Rules =2>WRKHRS

If (WORK=1) and (#53.4=1 or #53.11=1)) 1. One hour

If (WORK=1) and (#53.4>=96 or #53.11>=96) 96. 96 hours and more

If (WORK=1) and (#53.4=-8 or #53.11=-8)) 98. Don’t know

If (WORK=1) and (#53.4=-1 and #53:11=-1)) or
(WORK=9)

99. No answer

If (WORK=2 or WORK=3) 00. NAP (Code 2 or 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgwkhr>0 and wgwkhr<96)) wrkhrs=wgwkhr.
if (work=1vand (sfwkhr>0 and sfwkhr<96)) wrkhrs=sfwkhr.

if (work=%and wgwkhr>=96) wrkhrs=96.

if (work=1and sfwkhr>=96) wrkhrs=96.

if(work=1 and (wgwkhr=-8 or sfwkhr=-8)) wrkhrs=98.
If(work=1 and (wgwkhr=-1 and sfwkhr=-1)) wrkhrs=99.

if (work=9) wrkhrs=99.

if (work=2 or work=3) wrkhrs=0.
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EMPREL — Employment relationship

15

National Language

English Translation

Question no. | #53.1 7ol 2l&lf &= 0of #53.1 Do you work for someone else?
and text &L 7h?
Codes/ 1. J=ct 1. Yes
Categories 2. ol c} 2. No
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #53.9 1 2%|0f UAX| &4CtH #53.9 Are you working for the family,
and text SaJIESARIRIL L, 122 glo| | self-employed with no employees; or
A e stalL g, IRAUS =1 self-employed with employees?
At 2 st Y 72
Codes/ 1. F 2753 AL 1. Working for the family
Categories 2. 1220| gl= XL X}t 2. Self-employed.with no employees
3. 1228 S AlH= 3. Self-employed with employees
-8. 2=} -8. Don’t know
-1. d|sl & -1. Not applicable
Question no. | #53.19 7}& = Zof| o LS #53.19 What,type of job did you have at
and text sHE S U 7f? that time?
Codes/ 1. d829| ujnge2l 1. Worked for government
Categories | 2 Ap7|do| T 1 &9 2. Worked for private firm
3. 37|¢el gl 3. Worked for publicly owned firm
4. 37| 2| u|1gel 4. Worked for non-profit organization
5. FE7I5E AL 5. Worked for the family
6. 1Z0| ele RIS AL 6. Self-employed with no Employees
7. 1A & AMLF 7. Self-employed with employees
-8. =7} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note Y

Filter.\\ariable(s) and Conditions:

#53.1 To,be answered by those who are in current paid work (code 1 in #53)
#53.9 To be answered by those who are currently self-employed (code 2 in #53.1)
#53.19 To be answered by those who have had a paid work (code 2 in WORK)

Country Variable Codes/Construction Rules

=2 EMPREL

If (WORK=1 and #53.1=1) or (WORK=2 and
(#53.19>=1 and #53.19<=4))

1. Employee

If (WORK=1 and #53.9=2) or (WORK=2 and

#53.19=6)

2. Self-employed without employees

If (WORK=1 and #53.9=3) or (WORK=2 and

#53.19=7)

3. Self-employed with employees

If (WORK=1 and #53.9=1) or (WORK=2 and

4. Working for own family’s business

Documentation for ISSP background variables, ISSP 2014 onwards © GESIS



#53.19=5)

If (WORK=1 and #53.1=-8) or (WORK=1 and #53.9=- | 9. No answer
8) or (WORK=2 and #53.19=-8) or (WORK=9)

If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and emped=1) emprel=1.
if (work=2 and (unstat>=1 and unstat<=4)) emprel=1.
if (work=1 and sfstat=2) emprel=2.

if (work=2 and unstat=6) emprel=2.
if (work=1 and sfstat=3) emprel=3.

if (work=2 and unstat=7) emprel=3.
if (work=1 and sfstat=1) emprel=4.

if (work=2 and unstat=5) emprel=4.
if (work=1 and emped=-8) emprel=9.
if (work=1 and sfstat=-8) emprel=9.
if (work=1 and unstat=-8) emprel=9.
if (work=9) emprel=9.

if (work=3) emprel=0.
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NEMPLOY - Self employed: how many employees

17

National Language English Translation

Questionno. | #53.9.1 ¥ W2 1 &5t #53.9.1 How many employees do you
and text SIE=ABp) /5] employ?
Codes/ aE | persons
Categories | _g mzZict -8. Don’t know

-1. H|sl| & -1. Not applicable
Questionno. | #53.19.1 @ €S 15t #53.19.1 How many employees do you
and text &L k2 employ?
Codes/ = persons
Categories | _g m=zZict -8. Don’t know

-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Ask if EMPREL=3, respondent self-employed with.employees

#53.9.1 To be answered by those who are self-employed with employees (code 3 in
EMPREL)

#53.19.1 To be answered by those who have worked as self-employed with employees
(code 3 in EMPREL)

Country Variable Codes/Construction Rules =2>NEMPLOY

If (EMPREL=3) and (#53.9.1=1 or #53:19.1=1)) 1. 1 employee

If (EMPREL=3) and (#53.9.1>=9995 or 9995. 9995 employees or more

#53.19.1=>=9995))

If EMPREL=3 and (#53.9.1=-8 or #53.19.1=-8)) or
(EMPREL=3 and (#53.94=-1 and #53.19.1=-1)) or

9999. No answer

(EMPREL£9)
If (EMPREL=1 or EMPREL=2 or EMPREL=4 or 0000. NAP (Code 1, 2, 4,0 in
EMPREL=0) EMPREL)

Optional: Recoding Syntax

if (emprel=3 and (sfnohi>0 and sfnohi<9995)) nemploy=sfnohi.

if (emprel=3 and (unnohi>0 and unnohi<9995)) nemploy=unnohi.
if (emprel=3 and wgwkhr>=9995) nemploy=9995.

if (emprel=3 and unnohi>=9995) nemploy=9995.

if (emprel=3 and (sfnohi=-8 or unnohi=-8)) nemploy=9999.

if (emprel=3 and (sfnohi=-1 and unnohi=-1)) nemploy=9999.

if (emprel=9) nemploy=9999.

if (emprel=1 or emprel=2 or emprel=4 or emprel=0) nemploy=0.
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WRKSUP - Supervise other employees

18

National Language

English Translation

Question no. | #53.13.1 57} & F ol A 22|, #53.13.1 How many subordinates do
and text Zt=351= H351&l20| ™ ool | you have in your workplace whom you
manage and supervise?
Codes/ =E persons
Categories | _g m=zZict -8. Don’t know
-1. H|sl &t -1. Not applicable
Question no. | #53.13.2 57t & FollMd 2™ #53.13.2 Do you have a subordinate at
and text e, Zssts §5tE o] your workplace for whom you are
o) g L7712 directly responsible?
Codes/ 1. 2ct 1. Yes
Categories | 2 gicC} 2.No
-8. B =AcC} -8. Don’t know
-1. H|sl & -1. Not applicable
Question no. | #53.20 11 & & sHd S mh A5kt #53.20 Did youshavera subordinate at
and text Y pe|, Z=5shs 2351 20| your workplace for whom you were
olof &L 77} directly responsible?
Codes/ 1. AACt 1Yes
Categories 2. eloict 2 No
-8. B =AcC} =8..Don’t know
-1. H|sl| & 1" Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and-Conditions:

#53.13.1 To be answered by those who are currently working (code 1 in WORK)
#53.13.2 To be answered by those who are currently working (code 1 in WORK)

#53.20 To be answered.by those who are currently not working but had an experience

of ever working for'pay (code 2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules =2 WRKSUP
If (WORK=1 and (#53.13.1>0 or #53.13.2=1)) or 1. Yes
(WORK=2 and #53.20=1)
If (WORK=1 and #53.13.1=0) or (WORK=2 and 2. No
#53.20=2)
If ( WORK=1 and #53.13.1=-8 and #53.13.2=-1) or 9. No answer

(WORK=1 and #53.13.1=-1 and #53.13.2=-1) or
(WORK-=2 and #53.20=-8) or (WORK=9)

If (WORK=3)

0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and ((numsup>0 and numsup<1000) or emsubo=1)) wrksup=1.
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if (work=2 and unsubo=1) wrksup=1.

if (work=1 and numsup=0) wrksup=2.

if (work=2 and unsubo=2) wrksup=2.

if (work=1 and numsup=-8 and emsubo=-1) wrksup=9.
if (work=1 and numsup=-1 and emsubo=-1) wrksup=9.
if (work=2 and unsubo=-8) wrksup=9.

if (work=9) wrksup=9.

if (work=3) wrksup=0.
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NSUP — Number of other employees supervised

20

National Language English Translation
Question no. | #53.13.1 57} & F ol A 22|, #53.13.1 How many subordinates do
and text Zt=351= H351&l20| ™ ool | you have in your workplace whom you
manage and supervise?
Codes/ =E persons
Categories | _g m=zZict -8. Don’t know
-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

| Ask if WRKSUP=1, the respondent is responsible for supervising other employees

Construction/Recoding:

Country Variable Codes/Construction Rules

=>NSUP

If (WRKSUP=1 and #53.13.1=1)

1. I'employee

If (WRKSUP=1 and #53.13.1>=9995)

9995. 9995 employees or more

If (WRKSUP=1 and #53.20=1)

9998. Don’t know

If (WRKSUP=9)

9999. No answer

If (WRKSUP=2 or WRKSUP=0)

0000. NAP. (Code 2, 0 in WRKSUP)

Optional: Recoding Syntax

if (wrksup=1 and (numsup>0 and'numsup<9995)) nsup=numsup.
if (wrksup=1 and numsup>=9995) nsup=9995.
if (wrksup=1 and.unsubo=1) nsup=9998.

if (wrksup=9) nsup=9999:

if (wrksup=2 or wrksup=0) nsup=0.

Documentation for ISSP background variables, ISSP 2014 onwards © GESIS



TYPORGL1 — Type of organisation, for-profit/non-profit
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National Language

English Translation

Question no. | #53.6 #H5te| XAt M5 27|, | #53.6 Are you employed by the
and text A7, 2207|38 = ofC|of government, a publicly owned firm, a
sl st 771 private firm, or a non-profit
organization?
Codes/ 1. 8% 1. Government
Categories |2 =Z7| 2. Publicly owned firm
3. A7 3. Private firm
4. 27|z 4. Non-profit organization
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #53.9 1 2%|0f UAX| &4CtH #53.9 Are you working for thexfamily,
and text FaJIESARIRIL L, 122 glo| | self-employed with no,employees, or
AL stAlL g, IRAS =1 self-employed with employees?
At S s L 7k?
Codes/ 1. F2I7IESARL 1. Working for the family
Categories 2. 1220| gl= XL X}t 2. Self-employed with no employees
3. 12202 F AIdF 3.Self-employed with employees
-8. 2=l -8. Don’tknow
-1. d|sH &t <1. Not applicable
Question no. | #53.19 7} = 20| H{H LS #53.19 What type of job did you have at
and text I E=An b))% that time?
Codes/ 1. 8 5o mng2l 1. Worked for government
Categories | 2 Ap7|io| mlngol 2. Worked for publicly owned firm

—
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3. 37|¥e m1Egel 3. Worked for private firm
4. 7| ge| ml 1 g2l 4. Worked for non-profit organization
5. FE 7S SAML 5. Worked for the family
6. 10| Y= XA X} 6. Self-employed with no Employees
7. 1ZAE & A F 7. Self-employed with employees
-8. 2=l -8. Don’t know
-1. vl & -1. Not applicable

Interviewer | - -

Instruction

Translation | -

Note

Note -

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work

#53.1 Ask only those who are currently working (code 1 in WORK)

#53.9 To be answered by those who are currently self-employed (code 1 in WORK)

#53.19 To be answered by those who are currently not working but has ever worked for pay (code
2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules =2 TYPORG1

If (WORK=1 and (#53.6=2 or #53.6=3)) or (WORK=1 | 1. For-profit organisation
and (#53.9=1 or #53.9=2 or #53.9=3)) or(WORK=2
and (#53.19=2 or #53.19=3 or #53.19=5 or #53.19=6 or
#53.19=7))

If (WORK=1 and (#53.6=1 or #53.6=4)) or (WORK=2 | 2. Non-profit organisation
and (#53.19=1 or #53.19=4))

If (WORK=1 and #53.6=-8),or (WORK=2 and #53.19=- | 8. Don’t know

8)
If ( WORK=9) 9. No answer
If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=%.and (wgsect=2 or wgsect=3)) typorgl=1.

if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorgl=1.

if(work=2 and (unstat=2 or unstat=3 or unstat=5 or unstat=6 or unstat=7))
typorgl=1.

if (work=1 and (wgsect=1 or wgsect=4)) typorgl=2.

if (work=2 and (unstat=1 or unstat=4)) typorgl=2.

if (work=1 and wgsect=-8) typorgl1=8.

if (work=2 and unstat=-8) typorgl1=8.

if (work=9) typorg1=9.

if (work=3) typorgl1=0.
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TYPORG2 — Type of organisation, public/private
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National Language

English Translation

Question no. | #53.6 #H5te| XAt M5 27|, | #53.6 Are you employed by the
and text A, 227|2 = ofClol government, a publicly owned firm, a
=g Pl private firm, or a non-profit
organization?
Codes/ 1. 8% 1. Government
Categories |2 Z7|A 2. Publicly owned firm
3. A7 3. Private firm
4. 27|z 4. Non-profit organization
-8. 2=cC} -8. Don’t know
-1. d|sl & -1. Not applicable
Question no. | #53.9 1= 0| JUX| LCtH #53.9 Are you working for thexfamily,
and text B2IIESARIRIL L, 182 glo| | self-employed with ne,employees, or
AL stAlL g, IRAS =1 self-employed with employees?
At E sk U2
Codes/ 1. F2I7IESARL 1. Working for the family
Categories 2. 1220 gle XL Xt 2. Self-employed with no employees
3. 12E E AIHF 3..Self-employed with employees
-8. 2=l -8. Don’tknow
-1. H|SHE <1. Not applicable
Question no. | #53.19 7} = 20| H{H LS #53.19 What type of job did you have at
and text I E=An b))% that time?
Codes/ 1. 8 5o mng2l 1. Worked for government
Categories | 2 Ap7|o| T 1&Q 2. Worked for publicly owned firm
3. 379l u| ugeol 3. Worked for private firm
4. 37| 2| 1 g gl 4. Worked for non-profit organization
5. FE7I58A KL 5. Worked for the family
6. 1Z240| ei= ArH Xt 6. Self-employed with no Employees
7. 1ZASEF AT 7. Self-employed with employees
-8. 2 =7} -8. Don’t know
-1. d|eH &t -1. Not applicable
Interviewer™ |- -
Instruction
Translation .-
Note
Note -

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work

#53.1 Ask only those who are currently working (code 1 in WORK)

#53.9 To be answered by those who are currently self-employed (code 1 in WORK)

#53.19 To be answered by those who are currently not working but has ever worked for pay (code

2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

2> TYPORG2
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If (WORK=1 and (#53.6=1 or #53.6=2)) or (WORK=2 | 1. Public employer
and (#53.19=1 or #53.19=2))

If (WORK=1 and (#53.6=3 or #53.6=4)) or (WORK=1 | 2. Private employer
and (#53.9=1 or #53.9=2 or #53.9=3)) or (WORK=2
and (#53.19=3 or #53.19=4 or #53.19=5 or #53.19=6 or
#53.19=7))

If (WORK=1 and #53.6=-8) or (WORK=2 and #53.19=- | 8. Don’t know
8)

If (WORK=9) 9. No answer

If (WORK=3) 0. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgsect=1 or wgsect=2)) typorg2=1.

if (work=2 and (unstat=1 or unstat=2)) typorg2=1.

if (work=1 and (wgsect=3 or wgsect=4)) typorg2=2.

if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorg2=2.

if (work=2 and (unstat=3 or unstat=4 or unstat=5 or unstat=6-or'unstat=7))
typorg2=2.

if (work=1 and wgsect=-8) typorg2=8.

if (work=2 and unstat=-8) typorg2=8.

if (work=9) typorg2=9.

if (work=3) typorg2=0.
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ISCOO08 - Occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s occupation used in your
field questionnaire. If ISCO08-codes are not coded directly from the responses, but derived
from a country-specific occupation coding scheme, please provide a table of
correspondence between country-specific and 1ISCO08 codes attached as a separate file.
Also when you derive ISCO08 from another ISCO scheme, such as ISCO88, ISCO-COM
(a variant developed for the European Union (EU)), or ISCO88-CIS developed by the
Statistical Committee of the Commonwealth of Independent States, please document the
source code and provide a correspondence list.

Please do not enter standard ISCO08 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCO08. Occupational‘area O/ Armed
Forces occupations) needs some special attention. Since the ISCO variable is numeric, 4-
digit codes starting with zero, such as 0110 will usually appear as 110 injthe-data file. It is
therefore suggested that the only valid 3-digit codes in the data file are those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the occupation may-be insufficient for 4-
digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit
coding. In those very special cases where 3-digit{coding=is applied, fill in a zero for the
missing digit. Example: code 131 is coded as 1310.

National Language English Translation
Question no. #54 P 5t= ot AtoflA]l of #54 What kind of work do you normally
and text 70| 22 shrleyt? FHx oz | do? What do you actually do in that
ofass EAIA|QL SHAY LS S}HK| job? If currently not working, tell me

24T UCtDl Upy Aol et oj | aboutyourfastob.

CHal Al ol FAAIL.

|

Codes/ 0110. (ISCO08 unit code) 0110. (ISCO08 unit code)
Categories

deviating from _8. RECl -8. Don’t know
ISCO08

-1. H|s}Et -1. Not applicable

Interviewer - -
Instruction

Translation -
Note

Note -

Use of ISCO ISCO08 (ILO) o v

Please specify any other source code
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Filter Variable(s) and Conditions:

26

#54 To be answered by those who are currently working or those who have ever

worked for pay (code 1 in #53 and code 1 in #53.18)

Construction/Recoding:

Country Variable Codes/
Construction Rules

=> ISCO08

If (WORK=1 and #54=0110) or (WORK=2 and
#54=0110)

0110. (ISCO08 unit codes)

If (WORK=L1 and #54=9629) or (WORK=2 and
#54=9629)

9629. (ISCO08 unit codes)

If (WORK=1 and #54=-8) or (WORK=2 and #54=-8)

9998. Don’t know; inadequately
described

If (WORK=9)

9999. No answer:

If (WORK=3)

0000. NAR«(Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (occ08>=0110 and occ08<=9629)) isco08=0cc08.
if (work=2 and (occ08>=0110 and occ08<=9629)) isco08=0cc08.

if (work=1 and occ08=-8) isco08=9998.
if (work=2 and occ08=-8) isco08=9998.
if (work=9) isco08=9999.
if (work=3) isco08=0000.
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MAINSTAT — Main status

27

National Language English Translation
Question no. | #42.1.7 X 5t F=2lo] A= #42.1.7 Do you have a job that provides
and text ole 5t A AL income?
Codes/ 1. J=ct 1. Yes
Categories 2. ol c} 2. No
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #42.1.8 (L35t AUX| LchH) #42.1.8 (IF NOT WORKING) Whatiis
and text o5l QUX| A2 AR = Q5 the primary reason for unemployment?
Ol 7= FAAL N}
Codes/ 01. =do|= 01. Below school age
Categories | g2, xf 5t 02. Schooling
03. 7tA} 03. Staying at home
04. =& 04. Old age
05. 24 05. lingss
06. Al A1IZEHOf 06. Disabled
07. LA FZ 07. Temporarily not working
08. & & 08. Unemployed
09. 25| 09. Retired
10. MAE %] 10/ Retired under the age limit
11. F & &H| 11. Preparing to begin work
12. 3585 12. Doing study
13. T CH 13. In military service
14. At Al of 14. Business failure
15. F| M2t el = 15. Not intending to work
16. 22 &4 16. Preparing to get married
17. W™ O[F 17. For religious reasons
18. 715 =& 7| *l5H 18. To care for the family
19-% et 53 oM 19. No abiliy to get work
77. 7|El (<L ) 77. OTHER (SPECIFY: )
-8. B =27cC} -8. Don’t know
~1. H|sl| & -1. Not applicable
Interviewer - -
Instruction
Translation« | -
Note
Note -

Filter Variable(s) and Conditions:

#42.1.7 Ask all

#42.1.8 To be answered by those who are currently not working (code 2 in #42.1.7)

Construction/Recoding:

Country Variable Codes/Construction Rules

2> MAINSTAT

If (#42.1.7=1)

1. In paid work
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If (#42.1.8=8 or #42.1.8=11 or #42.1.8=14)

2. Unemployed and looking for a job

If (#42.1.8=2 or #42.1.8=12)

3. In education

4. Apprentice or trainee

If (#42.1.8=5 or #42.1.8=6)

5. Permanently sick or disabled

If (#42.1.8=9 or #42.1.8=10)

6. Retired

If (#42.1.8=3 or #42.1.8=18)

7. Domestic work

If (#42.1.8=13)

8. In compulsory military service or
community service

If (#42.1.8=4 or #42.1.8=7 or #42.1.8=15 or #42.1.8=16
or #42.1.8=17 or #42.1.8=19 or #42.1.8=77)

9. Other

If (#42.1.7=-8) or (#42.1.8=-8)

99. No answer

Optional: Recoding Syntax

if (emply=1) mainstat=1.

if (whynoe=8 or whynoe=11 or whynoe=14) mainstat=2.

if (whynoe=2 or whynoe=12) mainstat=3.
if (whynoe=5 or whynoe=6) mainstat=>5.
if (whynoe=9 or whynoe=10) mainstat=6.
if (whynoe=3 or whynoe=18) mainstat=7.
if (whynoe=13) mainstat=8.

if (whynoe=4 or whynoe=7 or whynoe=15 or whynoe=16 or whynoe=17 or whynoe=19

or whynoe=77) mainstat=9.
if (emply=-8) mainstat=99.
if (whynoe=-8) mainstat=99.
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PARTLIV — Living in steady partnership
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National Language English Translation
Question no. | #42.2.5 0] 22 X2 FHol M #42.2.5 Is spouse living in your house,
and text S| At QLS L2 BHA| Sot or is spouse staying somewhere else?
LIZHM A3 AEH 2
Codes/ 1. 5H 1. Living together
Categories [ o H|= A 2. Not living together
-8. =AcC} -8. Don’t know
-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

| #42.2.5 To be answered by those who married respondent

Construction/Recoding:

Country Variable Codes/Construction Rules

2>PARTLIV

If (#42.2.5=1) 1. Yes, have partner; live in same household

If (#42.2.5=2) 2.°Yes, have partner; don’t live in same
household

If (#42.2.5=-1) 3. No partner

- 7. Refused

If (#42.2.5=-8) 9. No answer

Optional: Recoding Syntax

if (#42.2.5=1) partliv=1.
if (#42.2.5=2) partliv=2.
if (#42.2.5=-1) partliv=3:
if (#42.2.5=-8) partliv=9.
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SPWORK - Spouse, partner: currently, formerly or never in paid work
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National Language English Translation

Question no. | #55 A Xl 7| 5t2| B A= £l 0] #55 Does your spouse have a job that
and text Q= 22 st AAlL e provides income?
Codes/ 1. J=ct 1. Yes
Categories | 2 ofL|C} 2.No

-8. D=2t -8. Don’t know

-1. H|5ll & -1. Not applicable
Question no. | #55.16 B A= & A= 22 #55.16 Has your spouse ever worked
and text S EA ZAE0| QAL 2 for pay?
Codes/ 1. Jct 1. Yes
Categories 2. 9ict 2. No

-8. 2=cC} -8. Don’t know

—1. H|& & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#55 Ask all
#55.16 To be answered by those who are not

currently working (code 2 in #55)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWORK

If (PARTLIV=1 and #55=1)0r (PARTLIV=2
and #55=1)

1. Currently in paid work

If (PARTLIV=1 and #55=2"and #55.16=1) or
(PARTLIV=2 and #55=2 and #55.16=1)

2. Currently not in paid work, paid work in the
past

If (PARTLIV=1 and #55=2-and #55.16=2) or
(PARTLIV=2 and #55=2 and #55.16=2)

3. Never had paid work

If (PARTLIV=1 and #55=-8) or (PARTLIV=2
and #55=-8), or/(PARTLIV=1 and #55=2 and
#55.16=-8) or (PARTLIV=2 and #55=2 and
#55:16==8) or (PARTLIV=9)

9. No answer

If (PARTLIV=3) or (PARTLIV=7)

0. NAP (Code 3 or 7in PARTLIV)

Optional: Recoding Syntax

if (partliv=1 and spincmr=1) spwork=1.
if (partliv=2 and spincmr=1) spwork=1.

if (partliv=1 and spincmr=2 and spunwkex=1) spwork=2.
if (partliv=2 and spincmr=2 and spunwkex=1) spwork=2.
if (partliv=1 and spincmr=2 and spunwkex=2) spwork=3.
if (partliv=2 and spincmr=2 and spunwkex=2) spwork=3.

if (partliv=1 and spincmr=-8) spwork=9.
if (partliv=2 and spincmr=-8) spwork=9.
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if (partliv=1 and spincmr=2 and spunwkex=-8) spwork=9.
if (partliv=2 and spincmr=2 and spunwkex=-8) spwork=9.
if (partliv=9) spwork=9.
iIf (partliv=3) spwork=0.
if (partliv=7) spwork=0.
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SPWRKHRS - Spouse, partner: hours worked weekly

32

National Language English Translation

Question no. | #55.4 Lol W+ =2 A7+ #55.4 How many hours a week does
and text A SHA L 77k2 your spouse usually work?
Codes/ AlZ} Hours
Categories | _g mzZict -8. Don’t know

-1. H|sl| & -1. Not applicable
Question no. | #55.10 Yol WA = A2t #55.10 How many hours a week does
and text ol AL 7712 your spouse usually work?
Codes/ AlZE Hours
Categories | _g m=zZict -8. Don’t know

-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#55.4 To be answered by those who are currently employed (code 1 in SPWORK)
#55.10 To be answered by those who are currently self<employed (code 1 in
SPWORK)

Construction/Recoding:

Country Variable Codes/Construction‘Rules = SPWRKHRS

If ((SPWORK=1) and (#55.4=1 or #55,10=1)) | 1. 1 hour

If (SPWORK=1) and (#55.4>=96 or 96. 96 hours or more

#55.10>=96)

If (SPWORK=1) and (#55.4=-8 or #55.10=-8)) | 98. Don’t know

If (SPWORK=1)and (#55:4=-1 and #55.10=-1)) | 99. No answer

or (SPWORK=9)

If (SPWORK=0 or SPWORK=2 or
SPWORK=3)

00. NAP (Code 0, 2 or 3 in SPWORK)

Optional: Recoding Syntax

if(spwork=1 and (spwgwkhr>0 and spwgwkhr<96)) spwrkhrs=spwgwkhr.
It (spwork=1 and (spsfwkhr>0 and spsfwkhr<96)) spwrkhrs=spsfwkhr.

if (spwork=1 and spwgwkhr>=96) spwrkhrs=96.

if (spwork=1 and spsfwkhr>=96) spwrkhrs=96.

if (spwork=1 and (spwgwkhr=-8 or spsfwkhr=-8)) spwrkhrs=98.

if (spwork=1 and (spwgwkhr=-1 and spsfwkhr=-1)) spwrkhrs=99.

if (spwork=9) spwrkhrs=99.

if (spwork=0 or spwork=2 or spwork=3) spwrkhrs=0.
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SPEMPREL - Spouse, partner: employment relationship

33

National Language

English Translation

Question no. | #55.1 H S Xt= =270l 2|3 #55.1 Does your spouse work for
and text 120 YSU someone else?
Codes/ 1. J=ct 1. Yes
Categories 2. ol c} 2. No
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #55.8 1 2=|0f UAX| &4CtH #55.8 Is your spouse working for the
and text B2IIESARRI YL, 182 glo] | family, self-employed withao
A e stalL g, IRAUS =1 employees, or self-employed with
Atelg s U7t employees?
Codes/ . FE2IIES AR 1. Working for the family
Categories 2. 1220| gl= XL X}t 2. Self-employed.with no employees
3. 1228 S AlH= 3. Self-employed with employees
-8. 2=l -8. Don’t know
-1. d|sl & -1. Not applicable
Question no. | #55.17 i A= 712 =20l o | #55.17 What,type of job did your
and text o2 st SU IR spouse have at that time?
Codes/ 1. d829| ujnge2l 1. Worked for government
Categories [ 2. Ap7|Qleo| w9l 2. Worked for private firm
3. 37|19l mugeol 3. Worked for publicly owned firm
4. 37| 2| u|1gel 4. Worked for non-profit organization
5. FE7I5E AL 5. Worked for the family
6. 1Z0| ele RIS AL 6. Self-employed with no Employees
7. 1A & AMLF 7. Self-employed with employees
-8. =7} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note "

Filter Variable(s) and Conditions:

#55:1 To be answered by those who are in current paid work (code 1 in #55)
#55:8 To be answered by those who are currently self-employed (code 2 in #55.1)
#55.17:To be answered by those who have had a paid work (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPEMPREL

If (SPWORK=1 and #55.1=1) or (SPWORK=2
and (#55.17>=1 and #55.17<=4))

1. Employee

If (SPWORK=1 and #55.8=2) or (SPWORK=2
and #55.17=6)

2. Self-employed without employees

If (SPWORK=1 and #55.8=3) or (SPWORK=2
and #55.17=7)

3. Self-employed with employees
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If (SPWORK=1 and #55.8=1) or (SPWORK=2 4. Working for own family’s business
and #55.17=5)

If (SPWORK=1 and #55.1=-8) or (SPWORK=1 | 9. No answer
and #55.8=-8) or (SPWORK=1 and #55.17=-8)
or (SPWORK=9)

If (SPWORK=0) or (SPWORK=3) 0. NAP (Code 0, 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and spemped=1) spemprel=1.
if (spwork=2 and (spunstat>=1 and spunstat<=4)) spemprel=1.
if (spwork=1 and spsfstat=2) spemprel=2.

if (spwork=2 and spunstat=6) spemprel=2.
if (spwork=1 and spsfstat=3) spemprel=3.

if (spwork=2 and spunstat=7) spemprel=3.
if (spwork=1 and spsfstat=1) spemprel=4.

if (spwork=2 and spunstat=5) spemprel=4.
if (spwork=1 and spemped=-8) spemprel=9.
if (spwork=1 and spsfstat=-8) spemprel=9.
if (spwork=1 and spunstat=-8) spemprel=9.
if (spwork=9) spemprel=9.

if (spwork=0 or spwork=3) spemprel=0.
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SPWRKSUP - Spouse, partner: supervise other employees

35

National Language

English Translation

Question no. | #55.11.1 7 5te| 8l X7} #55.11.1 How many subordinates does
and text H2ol|Al 2|, =5 your spouse have at his/her workplace
B3lrlgo] © giolL whom he/his manage and supervise?
Codes/ EE persons
Categories | _g m=zZict -8. Don’t know
-1. H|sl & -1. Not applicable
Question no. | #55.11.2 # 3te| v X7} #55.11.2 Does your spouse have a
and text Ao AF mE, 55t subordinate at his/her workplagefor
B3lrIo| &L t? whom your spouse is directly
responsible?
Codes/ 1. gt 1. Yes
Categories 2. 9ict 2. No
-8. B =AcC} -8. Don’t know
-1. d|sH &t -1. Not applicable
Question no. | #55.18 11 &S sk S m 7 5He #55.18 Did your spouse have a
and text Hl S X7F &F 22|, 2H=50= S5 | subordinate at his/her workplace for
Z200| YYSL| 72 whoem your speuse was directly
responsible?
Codes/ 1. AACH 1. Yes
Categories 2. eloict 2 No
-8. 2=rC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s).and Conditions:

#55.11.1 To be answered-by those who are currently working (code 1 in SPWORK)
#55.11.2 To be answered by those who are currently working (code 1 in SPWORK)

#55.18 T.o'be'answered by those who are currently not working but had an experience

of ever-working for pay (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWRKSUP

If (SPWORK=1 and #55.11.1<=800 and #55.11.1>=1 or
#55.11.2=1) or (SPWORK=1 and #55.11.2=1) or
(SPWORK=2 and #55.18=1)

1. Yes

If (SPWORK=1 and #55.11.1=0) or (SPWORK=2 and

#55.18=2)

2. No

If (SPWORK=1 and #55.11.1=-8 and #55.11.2=-1) or
(SPWORK=1 and #55.11.1=-1 and #55.11.2=-1) or
(SPWORK=2 and #55.18=-8) or (SPWORK=9)

9. No answer

If (SPWORK=0) or (SPWORK=3)

0. NAP (Code 0, 3 in SPWORK)
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Optional: Recoding Syntax
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if (spwork=1 and ((spnumsup>0 and spnumsup<1000) or spemsubo=1)) spwrksup=1.
if (spwork=2 and spunsubo=1) spwrksup=1.

If (spwork=1 and spnumsup=0) spwrksup=2.

if (spwork=2 and spunsubo=2) spwrksup=2.

if (spwork=1 and spnumsup=-8 and spemsubo=-1) spwrksup=9.

if (spwork=1 and spnumsup=-1 and spemsubo=-1) spwrksup=9.

if (spwork=2 and spunsubo=-8) spwrksup=9.

if (spwork=9) spwrksup=9.

if (spwork=0 or spwork=3) spwrksup=0.
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SPISCO08 — Spouse, partner: occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s spouse occupation used
in your field questionnaire. If ISCO08-codes are not coded directly from the responses, but
derived from a country-specific occupation coding scheme, please provide a table of
correspondence between country-specific and 1ISCO08 codes attached as a separate file.
Also when you derive ISCO08 from another ISCO scheme, such as ISCO88, ISCO-COM
(a variant developed for the European Union (EU)), or ISCO88-CIS developed by the
Statistical Committee of the Commonwealth of Independent States, please document the
source code and provide a correspondence list.

Please do not enter standard ISCO08 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCO08. Occupational‘area O/ Armed
Forces occupations) needs some special attention. Since the ISCO variable is numeric, 4-
digit codes starting with zero, such as 0110 will usually appear as 110 injthe-data file. It is
therefore suggested that the only valid 3-digit codes in the data file are those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the occupation may-be insufficient for 4-
digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit
coding. In those very special cases where 3-digit{coding=is applied, fill in a zero for the
missing digit. Example: code 131 is coded as 1310.

National Language English Translation
Question no. | #56 7 5t2| Hi A= OffH Ardol[ Al | #56 What kind of work does your
and text ol Exo0o| A2 sEAlIL 77 spouse normally do? What does he/she

2| Aoz otss xalA|o sz | actually dointhat job? If currently not

oS 5ix| obm oltfod 7xr 2z | Working, tell me about his/her last job.

= oleishM TH6 FHAIL.

Codes/ 0110. (ISCO08 unit code) 0110. (ISCO08 unit code)
Categories

deviating from _8. RECl -8. Don’t know
ISCO08

-1. H|s}Et -1. Not applicable

Interviewer - -
Instruction

Translation -
Note

Note -

Use of ISCO ISCO08 (ILO) o v

Please specify any other source code
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Filter Variable(s) and Conditions:

38

#56 To be answered by those who are currently working or those who have ever

worked for pay (code 1 in #55 and code 1 in #55.16)

Construction/Recoding:

Country Variable Codes/
Construction Rules

=>» SPISCO08

If (SPWORK=1 and #56=0110) or (SPWORK=2 and
#56=0110)

0110. (ISCO08 unit codes)

If (SPWORK=1 and #56=9629) or (SPWORK=2 and
#56=9629)

9629. (ISCO08 unit codes)

If (SPWORK=1 and #56=-8) or (SPWORK=2 and
#56=-8)

9998. Don’t know; inadequately
described

If (SPWORK=9)

9999. No answer

If (SPWORK=0) or (SPWORK=3)

0000. NAP (Code 0, 8 in"SPWORK)

Optional: Recoding Syntax

if (spwork=1 and (spocc08>=0110 and spocc08<=9629)) spiseo08=spocc08.
if (spwork=2 and (spocc08>=0110 and spocc08<=9629)).spisco08=spocc08.

if (spwork=1 and spocc08=-8) spisco08=9998.
if (spwork=2 and spocc08=-8) spisco08=9998.
if (spwork=9) spisco08=9999.

if (spwork=0 or spwork=3) spisco08=0000:
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SPMAINST — Spouse, partner: main status

National Language English Translation
Question no. | #42.2.7 x| #|ste| v X}t= #42.2.7 Does your spouse have a job
and text 2olo| Q= 22 5t A AL k2 that provides income?
Codes/ 1. J=ct 1. Yes
Categories 2. ol c} 2. No
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #42.2.8 (L35t AUX| LclH) #42.2.8 (IF NOT WORKING) Whatiis
and text o5l QUX| A2 AR = Q5 the primary reason for unemployment?
Ol 7= FAAL N}
Codes/ 01. =do|= 01. Below school age
Categories | g2, xf 5t 02. Schooling
03. 7tA} 03. Staying at home
04. =& 04. Old age
05. 24 05. lingss
06. Al A1IZEHOf 06. Disabled
07. LA FA 07. Temporarily not working
08. & & 08. Unemployed
09. 25| 09. Retired
10. MAE %] 10/ Retired under the age limit
11. F & &H| 11. Preparing to begin work
12. 3585 12. Doing study
13. T CH 13. In military service
14, Al 14. Business failure
15. F| A2 el s 15. Not intending to work
16. 22 &4 16. Preparing to get married
17. W™ O[F 17. For religious reasons
18. 715 =& 7| *l5H 18. To care for the family
19-% et 53 oM 19. No abiliy to get work
77. 7|El (<L ) 77. OTHER (SPECIFY: )
-8. B =27} -8. Don’t know
~1. H|sl| & -1. Not applicable
Interviewer - -
Instruction
Translation« | -
Note
Note -

Filter Variable(s) and Conditions:

#42.2.7 To be answered by those who married respondent (code 1 or 2 in PARTLIV)
#42.2.8 To be answered by those who are currently not working (code 2 in #42.2.7)

Construction/Recoding:

Country Variable Codes/Construction Rules = SPMAINST

If (PARTLIV=1 or PARTLIV=2) and (#42.2.7=1)) 1. In paid work
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If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=8 or 2. Unemployed and looking for a job
#42.2.8=11 or #42.2.8=14))

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=2 or 3. In education
#42.2.8=12))

4. Apprentice or trainee

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=5 or 5. Permanently sick or disabled
#42.2.8=6))

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=9 or 6. Retired
#42.2.8=10))

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=3 or 7. Domestic work
#42.2.8=18))

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=13)) 8. In compulsory military service “or
community service

If (PARTLIV=1 or PARTLIV=2) and (#42.2.8=4 or 9. Other
#42.2.8=7 or #42.2.8=15 or #42.2.8=16 or #42.2.8=17
or #42.2.8=19 or #42.2.8=77))

If (PARTLIV=1 or PARTLIV=2) and (#42.2.7=-8)) or | 99. No answer
((PARTLIV=1 or PARTLIV=2) and (#42.2.8=-8)) or
(PARTLIV=9)

If (PARTLIV=3) or (PARTLIV=7) 00. NAR (Code 3or 7 in PARTLIV)

Optional: Recoding Syntax

if ((partliv=1 or partliv=2) and (emply2=1)) spmainst=1.

if ((partliv=1 or partliv=2) and (whynoe2=8 orwhynoe2=11 or whynoe2=14))
spmainst=2.

if ((partliv=1 or partliv=2) and (whynoe2=2 or whynoe2=12)) spmainst=3.

if ((partliv=1 or partliv=2) and (whynoe2=5,0r whynoe2=6)) spmainst=>5.

if ((partliv=1 or partliv=2) and (whynoe2=9 or whynoe2=10)) spmainst=6.

if ((partliv=1 or partliv=2) and«(whynoe2=3 or whynoe2=18)) spmainst=7.

if ((partliv=1 or partliv=2) and (whynoe2=13)) spmainst=8.

if ((partliv=1 or partliv=2),and (whynoe2=4 or whynoe2=7 or whynoe2=15 or
whynoe2=16 or whynee2=17.0r.whynoe2=19 or whynoe2=77)) spmainst=9.

if ((partliv=1 or partliv=2) and (emply2=-8)) spmainst=99.

if ((partliv=1 orgpartliv=2) and (whynoe2=-8)) spmainst=99.

if (partliv=9) spmainst=99.

if (partliv=3.or partliv=7) spmainst=00.
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UNION — Trade union membership

41

National Language English Translation

Question no. | #53.7 #Hot= &M ==&l #53.7 Are you a union member?
and text Jtelsta AU
Codes/ 1. J=ct 1. Yes
Categories | 2 of|C} 2.No

-8. =cC} -8. Don’t know

-1. |5l & -1. Not applicable
Question no. | #53.7.1 (7t st UX| CtH) #53.7.1 (IF NOT UNION MEMBER)
and text Aol 7telst Mol Y& R Were you a member of«tradesunion

before?

Codes/ 1. J=ct 1. Yes
Categories | 2 of|C} 2.No

-8. =cC} -8. Don’t know

-1. d|sl & -1. Not applicable
Interviewer | -
Instructions
Translation | -
Note
Note We asked the question of union membership experience only to whom are

currently working for someone else and/paid: (only to #53=1 and #53.1=1).
Therefore, there are 669 respondents whofare NAP in variable UNION.

Filter Variable(s) and Conditions:

#53.7 To be answered by those who are working for someone else (code 1 in #53.1)
#53.7.1 To be answered by employees who are currently not a union member (code 2 in
#53.7)

Construction/Recoding:

Country Variable Codes/Construction Rules = UNION
If (#53.7=1) 1. Yes, currently
If (#53.7=2 and #53.7.1=1) 2. Yes, previously but not currently
If (#53.7=2 and #53.7.1=2) 3. No, never
- 7. Refused
If (#53.7=-8),0r(#53.7.1=-8) 9. No answer
If(#53.7=-1) 0. NAP

Optional: Recoding Syntax

if (wgunn=1) union=1.

if (wgunn=2 and wgunnp=1) union=2.
if (wgunn=2 and wgunnp=2) union=3.
if (wgunn=-8) union=9.

if (wgunnp=-8) union=9.

if (wgunn=-1) union=0.
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nat_RELIG — Country-specific religious affiliation

42

National Language English Translation
Question no. | #27 #Hot= olEH SWE JHX| 12 #27 What is your religion?
and text H AL 712
Codes/ 1. 0 1. Buddhist
Categories | o 7§Alm 2. Protestant
3. 31w 3. Catholic
4. 21 QS 4. No religion
77. 7|EH (01 B 1: ) 77. OTHER (SPECIFY )
-8. 2=cC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = nat RELIG
If (#27=4) 0. No religion
If (#27=3) 1. Catholic
If (#27=2) 2. Protestant
If (#27=1) 7. Buddhist
If (#27=T77) 10. Other Religions
- 997. Refused
If (#27=-8) 999. No answer

Optional: Recoding Syntax

recode relig, (1=7)(2=2)(3=1)(4=0)(77=10)(-8=999) into kr_relig.
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RELIGGRP- Groups of religious affiliations
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National Language

English Translation

Question no. | #27 #Hot= ol SWE JHX| 12 #27 What is your religion?
and text H AL 742
Codes/ 1. 0 1. Buddhist
Categories | 2 7§Alm 2. Protestant
3. 831 3. Catholic
4. Z1W 9l 4. No religion
77. 7|EH (01 B 1: ) 77. OTHER (SPECIFY )
-8. =cC} -8. Don’t know
-1. d|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = RELIGGRP
If (#27=4) 0.No religion
If (#27=3) 1. Catholic
If (#27=2) 2. Protestant
- 3. Orthodox
- 4. Other Christian
- 5. Jewish
- 6. Islamic
If (#27=1) 7. Buddhist
- 8. Hindu
- 9. Other Asian religions
If (#27=77) 10. Other religions
- 97. Refused
- 98. Information insufficient
If (#27==8) 99. No answer

Optional: Recoding Syntax

recode relig (1=7)(2=2)(3=1)(4=0)(77=10)(-8=99) into religgrp.
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ATTEND - Attendance of religious services
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National Language English Translation
Question no. | #26 #5t= Lot At 83 EE= | #26 How often do you attend religious
and text offuf E2lz{ Jka L 12 services?
Codes/ 1. 2Fof o8] H 1. A few times a week
Categories | o ol zolof s & 2. Once a week
3. SHEholl A & 3. Two or three times a month
4. st=tof| o & 4. Once a month
5. 2o H & 5. Several times a year
6. 2o ok & 6. Once a year
7. 2ldo| st &4 o|ot 7. Less frequently than once a year
8. Md JIX| t=ct 8. Never
-8. =cC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -
| Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = ATTEND
If (#26=1) 1. Several times a week or more often
If (#26=2) 2. Once a week
If (#26=3) 3. 2 or 3 times a month
If (#26=4) 4. Once a month
If (#26=5) 5. Several times a year
If (#26=6) 6. Once a year
If (#26=7) 7. Less frequently than once a year
If (#26=8) 8. Never
- 97. Refused
If (#26=-8) 98. Don’t know
- 99. No answer

Optional: Recoding Syntax

recode attend org (-8=98)(else=copy) into attend.
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TOPBOT - Top-Bottom self-placement
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National Language

English Translation

Question no. | #16 St AlS[2| Z|5HES 1 2 5t1 | #16 In our society there are groups
and text F|A =2 10 22 st 75 which tend to be towards the top and
olClol| &3tchm Ay ZEshAlL 77k groups which tend to be towards the
ARE Qb FAIA|Q bottom. Below is a scale that runs top to
x == T = .
bottom. Where would you put yourself
on this scale?
Codes/ 1. = 3s= 1. Bottom
Categories | o 2.
3. 3.
4. 4.
5. 5.
6. 6.
7. 7.
8. 8.
9. 9.
10. =& 10, Top
-8. B =AcC} -8. Don’t know
-1. |5l &t -2. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Receding:

Country Variable Codes/Construction Rules

= TOPBOT

If (#16=1)

Lowest, Bottom

If (#16=2)

If (#16=3)

If (#16=4)

If (#16=5)

If (#16=6)

IF(#16=7)

If (#16=8)

If (#16=9)

1.
2
3
4.
S.
6
7
8
9

If (#16=10)

10. Highest, Top

If (#16=-8)

98. Don’t know

99. No answer

Optional: Recoding Syntax

recode rank (-8=98)(else=copy) into topbot.
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VOTE_LE - Did respondent vote in last general election?

National Language English Translation
Question no. | #13 ?st= =23l 4 & 13 & (2016. #13 Did you vote in the 20th Legislative
and text 4. 13)0fl AAH H 20 =3|ol 2 Election (April 13, 2016)?
SUA I FESHGUIN
Codes/ 1. £ E3MCt 1. Voted
| Categories | 2 E F35Ix| btct 2. Did not vote
-8. =AcC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -
Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = VOTE_LE
If (#13=-1) 0. Not eligible to vote at last election
If (#13=1) 1. Yes
If (#13=2) 2. No
- 7. Refused
If (#13=-8) 9. No answer

Optional: Recoding Syntax

recode votel6 (1=1)(2=2)(-1=0)(-8=9) into vote_le.
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nat_PRTY - Country specific party voted for in last general election
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National Language

English Translation

Question no. | #13.1 (FE3sHdctH) 11 Al o= | #13.1 (IF YOU VOTED IN THE 20TH
and text Meto| EHol|H EESH S IR LEGISLATIVE ELECTION) Which
party did you vote in the April (2016)’s
the 20th Legislative elections?
Codes/ 1. M52 & 1. Saenuri Party
Categories | o {E£20{alZCt 2. The Minjoo Party
3. mololL 3. The People’s Party
4. Mol 4. Justice Party
66. 7|EF AT 66. OTHER
77. OFFO|HE FESHX| 2t /7. None
-8. Z=AcC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#13.1 To be answered by those who voted in the 20th Legislative Election (code 1 in

#13)

Construction/Recoding:

Country Variable Codes/Construction Rules

= nat PRTY

If (VOTE_LE=1 and #13.1=1)

1. Saenuri Party

If (VOTE_LE=1 and #13.1=2)

2. The Minjoo Party

If (VOTE_LE=1 and #13:1=3)

3. The People’s Party

If (VOTE_LE=1 and #13.1=4)

4. Justice Party

If (VOTE_LE=1 and #13.1=66) 95. Other
If (VOTE_LE=1 and #13.1=77) 96. Invalid ballot
- 97. Refused

If (VOTELLE=1 and #13.1=-8) or (VOTE_LE=9)

99. No answer

If (VOTE_LE=0) or (VOTE_LE=2) or (VOTE_LE=7)

0. NAP (0, 2, 7in VOTE_LE)

Optional:"Recoding Syntax

if (vote’ le=
if (vote_le=
if (vote_le=
if (vote_le=
if (vote_le=
if (vote_le=
if (vote_le=
if (vote_le=

1 and vote161=1) kr_prty=1.

1 and votel61=2) kr_prty=2.

1 and vote161=3) kr_prty=3.

1 and votel61=4) kr_prty=4.

1 and votel61=66) kr_prty=95.
1 and votel61=77) kr_prty=96.
1 and vote161=-8) kr_prty=99.
9) kr_prty=99.

if (vote_le=0) kr_prty=00.

if (vote_le=
if (vote_le=

2) kr_prty=00.
7) kr_prty=00.
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PARTY_LR - Party voted for in last general election: left-right scale

50

National Language English Translation
Question no. | #13.1 (FEsHEctH) 11 Al o= | #13.1 (IF YOU VOTED IN THE 20TH
and text Meto| EHol|H SEsHISL 7?2 | LEGISLATIVE ELECTION) Which
party did you vote in the April (2016)’s
the 20th Legislative elections?
Codes/ 1. M52 & 1. Saenuri Party
Categories | o {=2o0{o|3=Ct 2. The Minjoo Party
3. Zojo|tt 3. The People’s Party
4. Mol 4. Justice Party
66. 7|E} Mt 66. OTHER
77. OFFOHH = FESHX| 2= 77. None
-8. =cC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | -
Instructions
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#13.1 To be answered by those who voted in the 20th Legislative Election (code 1 in

#13)

Construction/Recoding:

Country Variable Codes/Construction,Rules

= PARTY_LR

If (VOTE_LE=1 and #13.1=4)

. Far left (communist, etc.)

If (VOTE_LE=1 and #13.1=2)

If (VOTE_LE=1 and #13:1=3)

1
2. Left / centre left
3. Centre / liberal

If (VOTE_LE=1 and #13.1=1)

o

. Right / conservative

5. Far right (fascist, etc.)

If (VOTE_LE=1 and #13.1=66)

6. Other

7. No party affiliation

If (VOTELLE=1 and #13.1=77)

96. Invalid ballot

97. Refused

98. Insufficient information to code into
scheme

If (VOTE_LE=1 and #13.1=-8) or (VOTE_LE=9)

99. No answer

If.(VOTE_LE=0) or (VOTE_LE=2) or (VOTE_LE=7)

0. NAP (0, 2, 7in VOTE_LE)

Optional: Recoding Syntax

if (vote_le=1 and votel61=4) party_Ir=1.

if (vote_le=1 and votel61=2) party Ir=2.

if (vote_le=1 and votel61=3) party Ir=3.

if (vote_le=1 and votel61=1) party Ir=4.

if (vote_le=1 and votel61=66) party_lr=6.
if (vote_le=1 and votel61=77) party_lr=96.
if (vote_le=1 and vote161=-8) party Ir=99.
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if (vote_le=9) party_Ir=99.
if (vote_le=0) party_lr=00.
if (vote_le=2) party_Ir=00.
if (vote_le=7) party Ir=00.
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nat_ ETHN1 — Country-specific: ethnic group 1

52

National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation | -
Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

= ETHN1

97/( Refused

98. Don’t know

99. No answer

Optional: Recoding Syntax
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nat_ ETHNZ2 — Country-specific: ethnic group 2

53

National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation | -
Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

=2nat ETHN2

97. Refused

98!/ Don’t know

99; No answer

Optional: Recoding Syntax
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HOMPOP - How many persons in household

54

National Language English Translation
Question no. | #42.1.5 - #42.10.5 0| &2 X|F | #42.1.5-#42.10.5 Is [person] living in
and text FIEHol|l A &HH At Q&L k2 EHA| | your house, or is [person] staying
Eob LIZIM AT Qla Lk somewhere else?
Codes/ 1. 5H 1. Living together
Categories 2. H|=H 2. Not living together
-8. 2=C} -8. Don’t know
-1. H|sl &t -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Country Variable Codes/Construction Rules

= HOMPOP

00. Not a private household

If (#42.1.5 to #42.10.5=1)

01. One person (only respondent)

If (#42.1.5 to #42.10.5=-8)

99. No answer

Optional: Recoding Syntax

compute templ1=0.
compute temp2=0.
compute temp3=0.
compute temp4=0.
compute temp5=0:
compute temp6=0.
compute temp7=0.
computedemp8=0.
compute temp9=0.
computetempl0=0.

recode away away?2 away3 away4 away5 away6 away7 away8 away9 away10
(2=1)(else=0) into temp1l temp2 temp3 temp4 temp5 temp6 temp7 temp8 temp9

temp10.
compute

hompop=templ+temp2+temp3+temp4+temp5+temp6+temp7+temp8+temp9+templ0

if (away=-8 or away2=-8 or away3=-8 or away4=-8 or away5=-8 or away6=-8 or
away7=-8 or away8=-8 or away9=-8 or away10=-8) hompop=99.

delete variables templ to temp10.
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HHCHILDR - How many children in household

National Language English Translation
Question no. | #42.1.3 - #42.10.3 0] £9] #42.1.3 - #42.10.3 How old is [Person]?
and text Liol= 2o 2 9 ML 7t?
Codes/ 18. 18 M| 18. 18 years old
Categories | 99, 99 A 99. 99 years old
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #42.1.5 - #42.10.5 0| 22 X|Z #42.1.5 - #42.10.5 Is [person] livinguin
and text FIEHol| A &HH At Q&L k2 EHA| | your house, or is [person] staying
Eob LIZIM AT Qla Lk somewhere else?
Codes/ 1. =4 1. Living together
Categories | 2 H| = 2. Not living together
-8. B =AcC} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable Codes/Construction Rules = HHCHILDR
If (#42.1.5 to #42.10.5=1) and (#42.1.3<=6 and 00. No children
#42.1.3>=18)) or (#42.2.5 to#42.10.5=2)
If ((#42.1.5 to #42.10,5=1) and (#42.1.3>6 and 01. One child
#42.1.3<18))
If (HOMPOP=00) 96. NAP (Code 0 in HOMPOP)
If (#42.1.5t0 #42.10.5=-8) or (HOMPOP=99) 99. No answer

Optional: Recoding Syntax

compute temp1=0.
compute temp2=0.
compute temp3=0.
compute temp4=0.
compute temp5=0.
compute temp6=0.
compute temp7=0.
compute temp8=0.
compute temp9=0.
compute temp10=0.
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if (away=1 and (age>6 and age<18)) temp1=1.

if (away2=1 and (old2>6 and o0ld2<18)) temp2=1.

if (away3=1 and (old3>6 and 0ld3<18)) temp3=1.

if (away4=1 and (old4>6 and 0ld4<18)) temp4=1.

if (away5=1 and (old5>6 and old5<18)) temp5=1.

if (away6=1 and (old6>6 and 0ld6<18)) temp6=1.

if (away7=1 and (old7>6 and old7<18)) temp7=1.

if (away8=1 and (0ld8>6 and 0ld8<18)) temp8=1.

if (away9=1 and (0ld9>6 and 0ld9<18)) temp9=1.

if (away10=1 and (old10>6 and 0ld10<18)) temp10=1.
compute
hhchildr=templ+temp2+temp3+temp4+temp5+temp6+temp7+temp8+temp9-+templ0

if (age=-8 or o0ld2=-8 or 0ld3=-8 or old4=-8 or o0ld5=-8 or o0ld6=-8 or old7=-8 er,0ld8=-
8 or 0ld9=-8 or 0ld10=-8) hhchildr=99.

if (hompop=99) hhchildr=99.

if (hompop=00) hhchildr=96.

delete variables temp1 to temp10.
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HHTODD - How many toddlers in household

National Language English Translation
Question no. | #42.1.3 - #42.10.3 0] £9] #42.1.3 - #42.10.3 How old is [Person]?
and text Liol= 2o 2 9 ML 7t?
Codes/ 18. 18 M| 18. 18 years old
Categories | 99, 99 A 99. 99 years old
-8. =cC} -8. Don’t know
-1. H|5ll & -1. Not applicable
Question no. | #42.1.5 - #42.10.5 0| 22 X|Z #42.1.5 - #42.10.5 Is [person] livinguin
and text FIEHol| A &HH At Q&L k2 EHA| | your house, or is [person] staying
Eob LIZIM AT Qla Lk somewhere else?
Codes/ 1. =4 1. Living together
Categories | 2 H| = 2. Not living together
-8. B =AcC} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable Codes/Construction Rules = HHTODD
If (#42.1.5 to #42.10.5=1) and (#42.1.3>=8)) or 00. No toddlers
(#42.2.5 to #42.10.5=2)
If ((#42.1.5 to #42.10,5=1) and (#42.1.3>0 and 01. One toddler
#42.1.3<7))
If (HOMPOP=00) 96. NAP (Code 0 in HOMPOP)
If (#42.1.5t0 #42.10.5=-8) or (HOMPOP=99) 99: No answer

Optional: Recoding Syntax

compute temp1=0.
compute temp2=0.
compute temp3=0.
compute temp4=0.
compute temp5=0.
compute temp6=0.
compute temp7=0.
compute temp8=0.
compute temp9=0.
compute temp10=0.
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if (away=1 and (age>0 and age<7)) temp1=1.

if (away2=1 and (old2>0 and o0ld2<7)) temp2=1.

if (away3=1 and (old3>0 and o0ld3<7)) temp3=L1.

if (away4=1 and (old4>0 and old4<7)) temp4=L1.

if (away5=1 and (0ld5>0 and old5<7)) temp5=1.

if (away6=1 and (0ld6>0 and 0ld6<7)) temp6=L1.

if (away7=1 and (old7>0 and old7<7)) temp7=L1.

if (away8=1 and (0ld8>0 and 0ld8<7)) temp8=L1.

if (away9=1 and (0ld9>0 and 0ld9<7)) temp9=1.

if (away10=1 and (0ld10>0 and 0ld10<7)) temp10=1.

compute
hhtodd=templ+temp2+temp3+temp4+temp5+temp6+temp7+temp8+temp9+templ0.
if (age=-8 or old2=-8 or 0ld3=-8 or old4=-8 or old5=-8 or 0ld6=-8 or old7=8 or.old8=-
8 or 0ld9=-8 or 0ld10=-8) hhtodd=99.

if (hompop=99) hhtodd=99.

if (hompop=00) hhtodd=96.

delete variables temp1 to temp10.
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nat_RINC — Country-specific: personal income
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National Language

English Translation

Question no. | #53 Al Fs5t= £=2lo| Y= L2 | #53 Do you have a job that provides
and text St H ALk income?
Codes/ 1. J=ct 1. Yes
Categories 2. ol c} 2. No
-8. 2=t -8. Don’t know
-1. H|sl &t -1. Not applicable
Question no. | #53.14 0| ZlojlA 22 252 #53.14 Before taxes and other
and text o2k 2lm 7 Aol 2 M22% | deductions, what is your total monthly
O|XQ| oz A{ fivelraé]e incomtc)e from thi; job? Thisd
=, Q. ACE=O Tal=s includes your base pay, bonuses, an
ﬂ%'_:' doa-FE S = = 23101 | Giher allowances, (IF THE
of FHAL. (58 S RESPONDENT DOES NOT HAVE A
deoc eirsE 1278E REGULAR MONTHLY-INCOME
LEFoiM 712 & ) (EX. FARMER), THEN DIVIDE THE
ESTIMATED-ANNUAL INCOME BY
12.) ABOUT MAN(10,000) WON
Codes/ HdHd 2245 ol ABOUT MAN(10,000)
Categories WON
-8. 2=ct -8. Don’tknow
-1. H|sl & <1. Not applicable
Interviewer | (s S2 Z2R0= dALES (IF THE RESPONDENT DOES NOT
Instruction 12 0¥ 2 L0 A ﬁH Ch2to|| HAVE A REGULAR MONTHLY
7| U 2) INCOME (E.G. FARMER), DIVIDE
THE ESTIMATED ANNUAL
INCOME BY 12)
Question no. | #53.15.1 0| A L& SIANAES #53.15.1 Beside income from your main
and text ol eloll Hstel Z\Et RE (7| EY job, do you have other sources of
Z2AE, oAl AMakal o) income? This includes interest or
AEDLotE ZIEHxD B2 dividends, :ent, social Ze::éJrity, other
§ e pensions, alimony or child support,
_'_:HPETE{ HAHez e = public aid (welfare), and armed forces
= 25 £5)0l ==0I2EE | or veteran’s allotment”.
%' é...* t2?
Codes/ )k 1. Yes
Categories 2. 9ict 2. No
-8. Z=7c} -8. Don’t know
-1. H|5ll & -1. Not applicable
Questionno. | #53.15.2 2UcCtH CH2F 2 H A #53.15 If any, what is your monthly
and text Aol e average income?
Codes/ HHEH A 7| EtA S o2 ABOUT MAN(10,000)
Categories WON
-8. 2=AcC} -8. Don’t know
-1. dH|sll & -1. Not applicable
Question no. | #53.17.1 7/ sk= O X}, A&+ & #53.17.1 Do you have any sources of
and text ol A1 42, 2tE B2 &2 | income? This interest or dividends, rent,
=2 HE JjolMo e = social security, other pensions, alimony
=2 p= alaA 2ol °| A0 or child support, public aid Ewelfare),
:LOI aic o 2Lyt olrkod ofa and armed forces or veteran’s

allotment’.
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g dotd L 7k?
Codes/ 1. ACt 1. Yes
Categories 2. gict 2. No
-8. =cC} -8. Don’t know
-1. H|sl| & -1. Not applicable
Question no. | #53.17.2 JUClH CHEF H A #53.17.2 If any, what is your monthly
and text Aojel L e average income?
Codes/ 2AdHA 7| EIAE: | ABOUT MAN(10,000)
Categories WON
-8. 2 =7c} -8. Don’t know
-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note Please enter name of the currency: MAN(10,000) WON

Filter Variable(s) and Conditions:

#53 Ask all

#53.14 Ask only to those who are currently working for pay (cede 1 in #53)
#53.15.1 Ask only to those who are currently working for pay (code 1 in #53)
#53.15.2 Ask only to those who have other sources of income (code 1 in #53.15.1)
#53.17.1 Ask only to those who are not currently working for'pay (code 2 in #53)
#53.17.2 Ask only to those who have any sources of income (code 1 in #53.17.1)

Construction/Recoding: (If the income infermation is collected by asking for income
classes or brackets, please code class midpoints in local currency and report classes offered
to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes

only)

Country Variable Codes/Construction Rules

= nat RINC

If (#53=1 and #53.14>=0 and #58.15.1=1 and
#53.15.2>=0) KRCRINC=#53.14+#53.15.2 or
If (#53=1 and #53.14>=0 and #53.15.1=2)
KR_RINC=i#53.14 or

If (#53=2%@nd #53.17.1=1 and #53.17.2>=0)
KR_RINC=#53.17.2

If (#53=2:and #53.17.1=2)

000000. No income

999997. Refused

IF(#53=:8) or (#53=1 and #53.14=-8) or (#53=1 and
#53.15:1=-8) or (#53=1 and #53.14>=0 and
#53:15.1=1 and #53.15.2=-8) or (#53=2 and
#53.17.1=-8) or (#53=2 and #53.17.1=1 and
#53.17.2=-8)

999998. Don’t know

999999. No answer

Optional: Recoding Syntax

if (incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0>=0) kr_rinc=rincom0+rxtincO.

if (incmr=1 and rincom0>=0 and rxtinc=2) kr_rinc=rincomO.
if (incmr=2 and unxtinc=1 and unxtinc0>=0) kr_rinc=unxtincO.
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if (incmr=2 and unxtinc=2) kr_rinc=000000.

if (incmr=-8) kr_rinc=999998.

if (incmr=1 and rincom0=-8) kr_rinc=999998.

if (incmr=1 and rxtinc=-8) kr_rinc=999998.

if (incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0=-8) kr_rinc=999998.
if (incmr=2 and unxtinc=-8) kr_rinc=999998.

if (incmr=2 and unxtinc=1 and unxtinc0=-8) kr_rinc=999998.
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nat_INC — Country-specific: household income

62

National Language

English Translation

Question no. | #57 {He| WA SL52 #57 Before taxes and other deductions,
and text MZ22H o|Xof tak ol M T what is the total average monthly
SL e Y5t E5s B !ncome in your househpld? This
JlPelS0 ~0le AzAE O|A} !ncludes _aII sources c_)f_lncome (ex. work
XHAF 2 ol A= T} of 2 J1= | income, interest or_dmdends, property
= =~ = _.'___' ‘—H':" e income, rent, pensions, welfare support,
Exg 52 FoItlE2FH or the money personally provided by
MelMoz2 g2 =S8 2F somebody) from all household members
ol M TEol AL including yourself.
Codes/ gy 7+ & &5 otel | ABOUT MAN(10,000)
Categories WON
-8. Z=ArC} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | (5 2 d<d= 9_4_._%% (IF THE RESPONDENT DOES NOT
Instruction 1278 2 LIS M OH toi| HAVE AREGULAR‘MONTHLY
JI9513, W= 23 30, a0, | INCOME (B TARMER) DIVIDE
== = =
gi__r(i{[,ﬁl:xﬂ lAE,: - Efj{;'; 77+| o=t | INCOME BY.,12. MAKE SURE TO
== = POl ZTE = INCLUDE THE INCOME OF EACH
A, dHE sRSHX| 2= FAMILY MEMBER LIVING WITH
JHTAE2 H2AE A) THE RESPONDENT MENTIONED IN
#48, #49, #50)
Translation | -
Note
Note Please enter name of the currency: MAN(10,000) WON

Filter Variable(s) and Conditions:

Construction/Recoding: (If the income information is collected by asking for income
classes or brackets, please code class midpoints in local currency and report classes offered
to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes

only)

Country«Variable Codes/Construction Rules = nat_INC
If(#57=...)
It (#57=0) 000000. No income
- 999997. Refused
If(#57=-8) 999998. Don’t know

999999. No answer

Optional: Recoding Syntax

recode incom0 (-8=999998)(else=copy) into kr_inc.
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MARITAL — Legal partnership status

National Language English Translation

Question no. | #42.1.4 0| 22| ZQIMEl= 7| &, | #42.1.4 Is [PERSON] now married,
and text Al o|Z, 7, 0|&, £ ZofA| | widowed, divorced, separated,

ofClol 5l &t t? cohabiting, or never married?
Codes/ 1.71& 1. Married
Categories | o A} 2. Widowed

3.0|& 3. Divorced

4. 9 4. Separated

5.0|2 5. Never married

6. = 6. Cohabiting

-8. Z=AcC} -8. Don’t know

-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Construction/Recoding:

Country Variable Codes/Construction Rules = Marital
If (#42.1.4=1) 1. Married
If (#42.1.4=6) 2. Civil partnership
If (#42.1.4=4) 3. Separated from spouse/civil partner

(still legally married/still legally in a
civil partnership)

If (#42.1.4=3) 4. Divorced from spouse/legally
separated from civil partner

If (#42.1.4=2) 5. Widowed/civil partner died

If (#42.1.4=5) 6. Never married/never in a civil
partnership

- 7. Refused

If (#42.1.4=-8) 9. No answer

Optional: Recoding Syntax

if (marital_org=1) marital=1.
Ify(marital_org=6) marital=2.
if (marital_org=4) marital=3.
if (marital_org=3) marital=4.
if (marital_org=2) marital=5.
if (marital_org=>5) marital=6.
if (marital_org=-8) marital=9.
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F_BORN — Father’s country of birth

64

National Language English Translation

Question no. | #37.1 At EREHMNM= = #37.1 In which country were your
and text 2710l M ENO{LEA S L k2 parents born?
Codes/ Ofe X| - Father:
Categories | _g mzZict -8. Don’t know

-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules =2F BORN
If (#37.1=...)
- 97=Refused
If (#37.1=-8) 99, No.answer

Optional: Recoding Syntax

recode fhirthpl (else=copy)(-8=99) into f_born.
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M_BORN — Mother’s country of birth
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National Language English Translation

Question no. | #37.2 5t EREHMNM= = #37.2 In which country were your
and text 2710l M ENO{LEA S L k2 parents born?
Codes/ oM L: Mother:
Categories | _g mzZict -8. Don’t know

-1. H|sl| & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules =M BORN
If (#37.2=...)
- 97=Refused
If (#37.2=-8) 99, No.answer

Optional: Recoding Syntax

recode mbirthpl (-8=99)(else=copy) into m_born.
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National Language English Translation
Question no. | #36 #st= Cl2 = ol x| o #36 Which of the categories below
and text AL QICh A ZbshAIL 7 comes closest to the type of place you
are living in now?
Codes/ 1. 2 A 1. A big city
Categories [ o = T A| =H 2. The suburbs or outskirts of a big city
3. &2 A 3. A town or a small city
4. Al =02 4. A country village
5. ek 2 5. A farm or home in the country.
-8. =cC} -8. Don’t know
-1. H|sl & -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = URBRURAL
If (#36=1) 1. A big city
If (#36=2) 2. The suburbs or outskirts of a big city
If (#36=3) 3. A town or a small city
If (#36=4) 4. A country village
If (#36=5) 5. A farm or home in the country
If (#36=-8) 9. No answer

Optional: Recoding Syntax

recode urbrural_org (-8=9)(else=copy) into urbrural.
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National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation -
Note

Note Derived from the sampling frame

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

= nat REG

If (BLOCKNO>=1 and BLOCKNO<=20)

10. Seoul Metropolitan City

If (BLOCKNO>=201 and BLOCKNO<=203)

20! Gangwon-do

If (BLOCKNO>=281 and BLOCKNO<=283)

30: Daejon Metropolitan City

If (BLOCKNO>=251 and BLOCKNO<=254)

31. Chungcheongnam-do

If (BLOCKNO=701)

33. Sejong Metropolitan Autonomous
City

If (BLOCKNO>=301 and BLOCKNO<=303)

36. Chungcheongbuk-do

If (BLOCKNO>=151 and BLOCKNO<=155)

40. Incheon Metropolitan City

If (BLOCKNO>=101 and BLOCKNOQO<=123)

41. Gyeonggi-do

If (BLOCKNO>=631 and BLOCKNO<=633)

50. Gwangju Metropolitan City

If (BLOCKNO>=601 and BLOCKNO<=604)

51. Jeollanam-do

If (BLOCKNO>=651 and'BLOCKNO<=654)

56. Jeollabuk-do

If (BLOCKNO>=501 and BLOCKNO<=507)

60. Busan Metropolitan City

If (BLOCKNO>=401and BLOCKNO<=406)

62. Gyeongsangnam-do

If (BLOCKNO>=531 and. BLOCKNO<=532)

68. Ulsan Metropolitan City

If (BLOCKNO=681)

69. Jeju Special Self-Governing
Province

If (BILLOCKNO>=581 and BLOCKNO<=585)

70. Daegu Metropolitan City

If (BLOCKNO>=551 and BLOCKNO<=556)

71. Gyeongsangbuk-do

9999. No answer

Optional: Recoding Syntax

if (blockno>=1 and blockno<=20) kr_reg=10.

if (blockno>=201 and blockno<=203) kr_reg=20.
if (blockno>=281 and blockno<=283) kr_reg=30.
if (blockno>=251 and blockno<=254) kr_reg=31.
if (blockno>=701 and blockno<=702) kr_reg=33.
if (blockno>=301 and blockno<=303) kr_reg=36.
if (blockno>=151 and blockno<=155) kr_reg=40.
if (blockno>=101 and blockno<=123) kr_reg=41.
if (blockno>=631 and blockno<=633) kr_reg=50.
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if (blockno>=601 and blockno<=604) kr_reg=51.
if (blockno>=651 and blockno<=654) kr_reg=56.
if (blockno>=501 and blockno<=507) kr_reg=60.
if (blockno>=401 and blockno<=406) kr_reg=62.
if (blockno>=531 and blockno<=532) kr_reg=68.
if (blockno>=681 and blockno<=682) kr_reg=69.
if (blockno>=581 and blockno<=585) kr_reg=70.
if (blockno>=551 and blockno<=556) kr_reg=71.
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SUBSCASE - Case substitution flag

69

National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation -
Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

= SUBSCASE

0. NAP, no substitution in this survey

1. Case from original sample

2.Case substituted

Optional: Recoding Syntax

compute subscase=1.

Documentation for ISSP background variables, ISSP 2014 onwards © GESIS



70

WEIGHT - Weighting factor

Please report on whether you calculate any weighting variables. If you adjust for non-
response bias, please enter the variable(s) on which the sample’s distribution(s) is (are)
adjusted to the population distribution(s). Please, also report if you apply any kind of

rescaling.

Design weight to

adjust for unequal No []
selection probabilities Yes []
Weight to adjust for No []

non-response bias
Yes

[ 1> please specifywariables used
for calculation of weight

Are the final weights No
rescaled to net sample
size (thus weighted
sample
size=unweighted

sample size)? v
es

[ 1—> please specify target population
represented by sum of all case weights

[]

Note

Construction/Recoding:

Country Variable Codes/Construction Rules

= WEIGHT

1. No weighting
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MODE — Administrative mode of data-collection

71

Note

Con

struction/Recoding:

Country Variable Codes/Construction Rules

= Mode

10. F2f/PAPI, no visuals

11. F2f/PAPI, visuals

12. F2f/PAPI, respondent,reading
questionnaire

13. F2f/PAPI, interpreter or translator
—no visuals

14. F2f/PAPI, interpreter,or translator
— visuals

20. CAPIyno visuals

21. CAPI, visuals

22. CAPI, respandent reading
questionnaire (paper or on monitor)

23, CAPI, interpreter or translator — no
visuals

24=CAPI, interpreter or translator —
visuals

30. SC, arrives with interviewer,
interviewer attending

31. SC, arrives with interviewer,
drops-off, picks up later

32. SC, arrives with interviewer, drops
off, mailed back by R

33. SC, mailed to, completed by R and
hold for pick up

34. SC, mailed to, mailed back by R

40. CASI, self-completion, computer-
assisted

41. Self-completion, web questionnaire

52. CAPI, phone

60. CATI, computer assisted telephone
interview
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